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Medical Falcility: Region: Option:
Abs Accession  Seq Abstract Type Patient Name Reciept Site DX Date Initials
*** Master contains 1 other Seq (s) *** Medical Record #: SSN: DOB:
Emor:938 Force:N  If a patient has a race code of 01 (white), it must be the last recorded race for that patient; that is, the last race
code not coded to 88 or spaces.

Discrepant Data: Bdit: Race 1, Race 2, Race 3, Race 4, Race 5 (SEER IF93) [Tag:N0628] [Agency:FPCDS]
B: 0938: A race code of 01 (white) must be the last recorded race
Race 1(177) [01]
Race 2(179) [04]
Race 3(181) [88]
Race 4(182) [88]
Race 5(185) [88]

Emor: 1140 Force:N  If Rad-Regional RX Modality = 20-08 (radiation performed), Reason for No Radiation must = 0 (radiation
performed) and vice versa
Discrepant Data: Edit: Rad--Regional RX Modality, Reason for No Rad (COC) [Tag:N0574] [Agency:FCDS]
B: 1149: If Rad--Regional RX Modality (26) = 20-98, Reason for No Radiation (1)

must = 0 and vice versa
Reason for No Radiation(1592) [1]
Rad--Regional RX Modality(1607) [26]

Emor:1285 Force:N  If Reason for No Radiation = 1, 2, 5, or 8, then RX Summ-Radiation must =0

Discrepant Data: Bdit: Reason for No Rad, RX Summ--Radiation (PCDS) ([Tag:PL1728] lMonay:m)
B: 1265: If Reason for No Radiation = 1, RX Summ--Radiation must =
Reason for No Radiation(1592) [1]
RX Summ--Radiation(1580) [2]

Emor:537 Force:N  If RX Date—-Radsiation is blank, corresponding flag must = 10—!2.|or 15

Discrepant Data: Bdit: RX Date Radiation, Date Flag (COC) [Tag:PL1128) [Agency:PCDS]
EB: 0537: If RX Date Radiation 1s blank, corresponding flag must = 10-12, 1§
RX Date Radiation(1486) [Y: M: D:
RX Date Radiation FPlag(1494) [<BLANK>]

Emor:1318 Force:N IfRX &;r;m—Sup Prim Site = 10-80 AND Rad-Regional RX Modality = 20-08, then RX Summ-Surg/Rad Seq
must=2-7 or @

Discrepant Data: Bdit: Surgery, Radiation, Surg/Rad S (FCDS) [Tag:FPL1431] [Agency:FCDS.
B: 1316: If RX Summ--Surg Prim Site=50 and Rad--Regional RX lodAIity:ZG. RX
Summ--Surg/Rad Seq cannot be 0

RX Summ--Surg Prim Site(1567) [50]

RX Summ--Scope Reg LN Sur(1569) [0]

RX Summ--Surg Oth Reg/Dis(1570) [0]

Rad--Regional RX Modality(1607) [26]

RX Summ--Surg/Rad Seg(1582) [0]
Date of Diagnosis(530) [Y:2013 M:01 D:29]

Regional Nodes Examined(916) [98]

Emor:1310 Force:N  If RX Summ-Surg Prim Site = 10-80 AND RX Summ-Radiation = 1-8, then RX Summ-Surg/Rad Seq must = 2-7,
or@

Discrepant Data: Bdit: Surgery, Rad Summ, Surg/Rad Seq (PCDS) [Tag:PL1430] [Agency:PCDS]
B: 1319:; If RX Summ--Surg Prim Site=50 and RX Summ--Radiation=2, RX

Summ--Surg/Rad Seq cannot be 0
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